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h g Powierzchnia S_rednla . :§ Objetosé Q 3 N"’.‘dm',ar. Suma
< 2 powierzchnia =) S s.@ objetosci algebraiczna
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+ m2 m2 mp m3 m3 m3 m3
0.00] 10.3 0.0
10.3 0.0/ 31.90| 328.6 0.0 0.0] 328.6 0.0
31.90] 10.3 0.0 328.6 0.0
9.8 0.0/ 19.60] 192.1 0.0 0.0/ 192.1 0.0
51.50 9.3 0.0 520.7 0.0
9.3 0.0/ 14.50| 134.9 0.0 0.0] 134.9 0.0
66.00 9.3 0.0 655.6 0.0
10.8 0.0 0.00 0.0 0.0 0.0 0.0 0.0
66.00] 12.2 0.0 655.6 0.0
12.2 0.0/ 18.70| 228.1 0.0 0.0] 228.1 0.0
84.70| 12.2 0.0 883.7 0.0
14.4 0.0/ 13.50| 194.4 0.0 0.0] 194.4 0.0
98.20] 16.6 0.0 1078.1 0.0
16.4 0.0/ 19.60| 321.4 0.0 0.0] 321.4 0.0
117.80f 16.2 0.0 1399.5 0.0
15.9 0.0/ 13.80] 2194 0.0 0.0] 2194 0.0
131.60f 15.6 0.0 1618.9 0.0
15.2 0.0/ 20.80| 316.2 0.0 0.0/ 316.2 0.0
152.40( 14.7 0.0 1935.1 0.0
14.1 0.0/ 30.10| 424.4 0.0 0.0| 424.4 0.0
182.50f 134 0.0 2359.5 0.0
134 0.0/ 21.16] 283.5 0.0 0.0] 283.5 0.0
203.66| 13.4 0.0 2643.0 0.0
134 0.0 159 21.3 0.0 0.0/ 21.3 0.0
205.25| 134 0.0 2664.3 0.0
2664.3 0.0 0.0/2335.7 0.0
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205.25| 134 0.0
9.3 0.0 14.45| 134.4 0.0 0.0] 134.4 0.0
219.70 5.1 0.0 134.4 0.0
5.1 0.0 9.30| 474 0.0 0.0l 474 0.0
229.00 5.1 0.0 181.8 0.0
5.2 0.0/ 25.60] 133.1 0.0 0.0] 133.1 0.0
254.60 5.2 0.0 314.9 0.0
5.0 0.0/ 31.50| 157.5 0.0 0.0] 1575 0.0
286.10 4.8 0.0 472.4 0.0
4.1 0.0 0.00 0.0 0.0 0.0 0.0 0.0
286.10 34 0.0 472.4 0.0
3.5 0.0/ 19.00] 66.5 0.0 0.0 66.5 0.0
305.10 3.5 0.0 538.9 0.0
34 0.0/ 1455 495 0.0 0.0l 495 0.0
319.65 3.2 0.0 588.4 0.0
3.7 0.0/ 20.15| 74.6 0.0 0.0l 74.6 0.0
339.80 4.1 0.0 663.0 0.0
4.3 0.0/ 10.80] 46.4 0.0 0.0l 46.4 0.0
350.60 4.5 0.0 709.4 0.0
4.5 0.0 23.28| 104.8 0.0 0.0] 104.8 0.0
373.88 4.5 0.0 814.2 0.0
814.2 0.0 0.0] 814.2 0.0




